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1. (30%) To explain the structure, spirits, merits and drawbacks (or
constraints) of these following algorithm in your words.

(1) Genetic algorithm,
(2) Kohonen neural network,

(3) Back-propagation artificial neural network.

2. (20%) For fuzzy c-means clustering (FCM) , u; , one element of

the membership matrix U, is allowed to have values between O
and 1 and the column summation of uj; is unity, i.e.,

Kk
Zuij :1, all J = 1,..., n (1)
i=1
The cost function for FCM is as following:
Kk Kk
JUW,,... W,) = _ZlJi = zl zluu X 5 =W || (2)
i= i=1]j

To find the values of uj; and W; , they are the necessary conditions
for Eq.(2) to reach its minimum.
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